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Fourth Semester
  Chemical Engineering

  Scheme July 2008
PLANT ECONOMICS MANAGEMENT  AND

MAINTENANCE
Time : Three Hours Maximum Marks : 100
Note : i) Attempt total six questions. Question No. 1 (Objective type)

is compulsory. From the remaining questions attempt any five.

Hw$b N>: àíZ hb H$s{OE& àíZ H«$‘m§H$ 1 (dñVw{Zð> àH$ma H$m)
A{Zdm¶© h¡& eof àíZm| ‘| go {H$Ýht nm±M H$mo hb H$s{OE&

ii) In case of any doubt or dispute, the English version question
should be treated as final.

{H$gr ^r àH$ma Ho$ g§Xoh AWdm {ddmX H$s pñW{V ‘| A§J«oOr ^mfm Ho$
àíZ H$mo A§{V‘ ‘mZm Om¶oJm&

1. Choose the correct answer. 2 each

ghr CÎma H$m M¶Z H$s{OE&
i) The main cause of Mechanical wear is

(a) Insufficient lubrication
(b) Improper lubrication
(c) Lubrication at wrong place
(d) All of above

¶m§{ÌH$ {Kgmd H$m ‘w»¶ H$maU h¡
(A) An¶m©á ñZohZ
(~) ñZohZ H$s An¶m©á ‘mÌm
(g) JbV ñWmZ na ñZohZ

(X) Cnamo³V g^r

ii) Profit is defined as
(a) Selling price – Cost price
(b) Cost price + Selling price
(c) Cost price – Selling price
(d) Cost price / Selling price
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bm^ hmoVm h¡

(A) {dH«$¶ ‘yë¶ – bmJV ‘yë¶

(~) bmJV ‘yë¶ + {dH«$¶ ‘yë¶

(g) bmJV ‘yë¶ – {dH«$¶ ‘yë¶

(X) bmJV ‘yë¶ / {dH«$¶ ‘yë¶

iii) Single Entry System of maintaining accounts is used in

(a) Commercial organisation

(b) Government Departments

(c) Both (a) and (b)

(d) None of above

AH$mCÝQ> ‘oÝQ>oZ H$aZo Ho$ qgJb BÝQ´>r {gñQ>‘ H$m Cn¶moJ hmoVm h¡

(A) dm{UpÁ¶H$ à{Vð>mZm| ‘|

(~) emgH$s¶ {d^mJm| ‘|

(g) (A) Ed§ (~) XmoZm| ‘|

(X) Cnamo³V ‘| go H$moB© Zht

iv) Prime Cost is

(a) Cost of raw material (b) Cost of labour

(c) Cost of expenses (d) Sum of all three

àmB‘ bmJV H$hbmVr h¡

(A) H$ÀMo ‘mb H$s bmJV (~) l{‘H$ bmJV

(g) E³gnopÝgg bmJV (X) Cnamo³V g^r H$m ¶moJ

v) Straight line method for depreciation calculation is

(a)
C S

D = 
N

−
(b)

S C
D = 

N

−

(c)
N

D = 
C S−

(d) None of above

D = Depreciation, C = Cost price, S = Scrap value, N = Machine
usage year
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‘yë¶ èhmg Ho$ ñQ´>oQ> bmBZ {d{Y Ûmam JUZm H$aVo h¡

(A)
C S

D = 
N

−
(~) S C

D = 
N

−

(g)
N

D = 
C S−

(X) Cnamo³V H$moB© Zht

D = ‘yë¶ èhmg, C = bmJV ‘yë¶, S = ñH«¡$n ‘yë¶, N = ‘erZ Ho$
Cn¶moJr df©

2. a) What are the basic principles of a good organisation? 8

EH$ AÀN>o g§JR>Z Ho$ ‘yb {gÕmÝVm| H$mo ~VmB¶o&
b) Explain the organisation structure of maintenance department with

the help of flow diagram. 10

âbmo S>m¶J«m‘ H$s ghm¶Vm go ‘oÝQ>oZ|g {d^mJ H$s g§aMZm H$mo {dñVma go
g‘PmBE&

3. a) Discuss the importance of Preventive maintenance in any Industry.
6

{H$gr CÚmoJ ‘| {àdopÝQ>d ‘oÝQ>oZ|g Ho$ ‘hËd H$mo g‘PmBE&

b) Explain the function organisation with the help of flow diagram.
Also give the advantages and disadvantages along with its
applications.  12

ñdÀN> ao{IH$ S>m¶J«m‘ H$s ghm¶Vm go ’§$³eZb g§JR>Z H$mo g‘PmB¶o&

BgHo$ bm^ Ed§ hm{Z¶m| Ho$ gmW BgHo$ Cn¶moJ ^r ~VmB¶o&

4. a) Define Depreciation. What are the various causes of depreciation?
6

‘yë¶ èhmg H$mo n[a^m{fV H$s{O¶o& ‘yë¶ èhmg Ho$ {d{^Þ H$maUm| H$m
{dñVma go g‘PmB¶o&

b) The cost of an equipment is Rs. 200000/-. If the estimated life of
the equipment is 4 years and scrap value is Rs. 20000/-. Calculate
the rate of depreciation every year by “Sum of year’s digit” method.

12
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EH$ ‘erZ H$s H$s‘V ê$. 200000/- h¡& ¶{X BgH$s Cn¶moJr dfm] H$s
g§»¶m 4 df© h¡ Ed§ ñH¡«$n ‘yë¶ ê$. 20000/- h¡ V~ ""dfm] Ho$ ¶moJ {d{Y''
Ûmam à{V df© H$m ‘yë¶ èhmg kmV H$s{O¶o&

5. a) Give the various steps involved during the maintenance of Gear
box. 9

{J¶a ~m°³g Ho$ aI-aImd Ho$ {d{^Þ MaUm| H$mo g‘PmB¶o&
b) Differentiate between Administration, Management and

Organisation. 9

àemgZ, à~ÝYZ Ed§ g§JR>Z ‘| AÝVa ñnï> H$s{O¶o&

6. a) What are the various elements of Cost? 9

H$mñQ> Ho$ {d{^Þ VËdm| H$mo g‘PmB¶o&
b) Discuss the components of Costs. 9

bmJV Ho$ {d{^Þ Ad¶dm| H$mo g‘PmB¶o&

7. a) Explain ‘Break even point’. 4

"g‘ {dÀN>oX {~ÝXþ' H$mo g‘PmB¶o&
b) Explain angle of incident and margin of Safety. 6

BÝgrS>oÝQ> E§Jb Ed§ goâQ>r ‘m{O©Z H$mo g‘PmB¶o&
c) Give the Workmen Compensation Act. 8

dH©$‘oZ H$ånZgoeZ E³Q> H$mo ~VmB¶o&

8. Write short notes of following (Any three) : 3 × 6 = 18
a) Journals and Ledger
b) Balance Sheet
c) Various functions of Banks
d) Shares and Debentures

{ZåZ ‘| go {H$Ýht VrZ na g§{já {Q>ßnUr {b{I¶o&
A) OZ©b Ed§ boOa
~) ~¡b|g erQ>
g) ~¢H$m| Ho$ {d{^Þ H$m¶©

X) eo¶a Ed§ {S>~oÝM©g
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